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Topic:- Nutrition and Health

1) How much calories and proteln are given to children (6 months to 72 months) under the revised (February 2009)

norms of ICDS?/ ICDS & JXNfUT ATID] (Ba] 2009) P 3=<Iiid T=1 (6 ATE & 72 ATE) B! fha-1 R} TI Ui ol wra 82
1. 500 Kcal; 12-15 g/500 fpaipaRy; 12-15

2. 1000 Kcal; 20-25 g/1000 faihaRy; 20-25 71

3. 1600 Kcal; 18-20 g/1600 fPaibaRy; 18-20 U1

4. 1800 Kcal; 20-25 g/1800 forclidpany; 20-25 a1

Correct Answer :-

« 500 Kcal; 12-15 g/500 falibas); 12-15

2) Influenza can be cause due to the infection of:/ SIS P THHUI P PRI 8 Jobell ©:

1. Bacteria/ Siarg]
2. Virus/ faumg
3. Fungi/ d&
4. Algae/ IS

Correct Answer :-

« Virus/ faum

3) Whooping Cough is also known as:/ Tt @E H1____ i wgd &
1. Diphtheria/ fewitfaar

2. Pneumonia/ ?Fﬁﬁ'ﬂﬂ

3. Tuberculosis/ &% T (CERPARI)

4. Pertussis/ uaﬂ%m

Correct Answer :-

. Pertussis/qaiﬁm

4) Whooping cough is caused by bacterium:/ ®Tel @ikl ATH® SaTy] & SR gl @
1. Bordetella pertussis/ Tsﬁé%wqaﬂ%m

2. Bordetella parapertussis /@@Wﬁ?‘lﬂ'ﬁﬁm

3. Bordetella bronchiseptica/ EIENIIEESIEED

4. Bordetella mycobacterium/ TS AODISTRTH

Correct Answer :-

. Bordetella pertussis/ Sraeal TSR

5) An infectious disease caused by the Mycobacterium tuberculosis is:/ ARIGISTRINGT cYERP AT TS SHATY] F HROT
B9 Tl TF WHTHS IT 3

1. Diphtheria/ fswifea



2. Tuberculosis/ &% INT (CIERP ANRTH)
3. Tetanus/ fee9

4. Chickenpox/ EEC

Correct Answer :-

« Tuberculosis/ &3 I (CERP AIH)

6) The Niacin requirements of pre-school children recommended by ICMR-2010 expert Group range from:/ ICMR-2010

frdiwy wwE g1 vd-fRemertt g=i ¥ it PR @t srawgear_ Sdwad e
1.8.0 to 11.0 mg/day/ 8.0 ¥ 11.0 feEn/fea

2.4.0 to 6.0 mg/day/ 4.0 ¢.0 fTEnfeA

3.1.8 to 2.0 mg/day/ 1.8 ¥ 2.0 /e

4. 0.5 to 1.2 mg/day/ 0.5% 1.2 A

Correct Answer :-

« 8.0 to 11.0 mg/day/ 8.0 ¥ 11.0 /A

7) Stunting is defined as:/ IV &M H _ FEuH ulvunfva frar sman @:
1. Extremely low height for age/ 3T &1 e ¥ 3 HH TS

2. Extremely low weight for age/ 3 @1 £f® ¥ 3/ & HR

3. Extremely low weight for height/ TS DI 2D T ST HH UR

4. Low weight for height/ wrs‘ﬁ‘d@ﬁm HR

Correct Answer :-

« Extremely low height for age/ mﬁ%’f@@f WWE‘E‘I’&F

8) Which programme had been launched on 12th April 20052/ 12 3@ 2005 & SI--TT HRIHH RV 31T UT?
1. NUHM

2. NRHM

3. ICDS

4. WHO

Correct Answer :-

« NRHM

9) Energy needs during pregnancy increase because of the additional energy required for the:/ Tyfar %ﬂ?ﬁﬁf&?f
SATAIHAT 9¢ ATl § TP ¥ forg sfafvaa Sof arfge 8t &:

1. Growth and physical activity of the foetus/ T R &1 gfg vd wifeew nfafafy
2. Growth of placenta/ THATA ®1 3f&

3. Normal increase in maternal body size/ HTdl & YRR & MHR T AH Jhs

4. All of the above/ B‘miﬁﬁﬁlﬂ

Correct Answer :-

« All of the above/ ITjad Tt

10) Iron supplementation along with helps to cure anaemia:/ %mu-mu?ﬁ?ﬂnzﬁﬁmmmmﬁ
Teg firad @

1. Thiamine/ dTafiA

2. Folic acid/ Wi s
3. Riboflavin/ mﬁ?
4. Choline/ ®IfeH



Correct Answer :-

- Folic acid/ Wifei® 3T

11) Protein energy malnutrition in children occurs due to:/ ﬁﬁﬁq—mm_%waﬂ%
1. Poverty/ fadar

2. Ignorance of weaning/ §H§_s,ﬁﬁ SfagaH

3. Chronic infections/ dideTieid TeHA

4. All of the above/ IR Tt

Correct Answer :-

« All of the above/ IWRiad T+

12) Which of following is not an airborne disease is:/ Eﬁﬁﬁqwa@-mﬁaﬂwqﬁ%‘z
1. Chickenpox/ EELD

2. Malaria/ HaiRkam

3. Influenza/ SURIEST

4. Anthrax/ T&9

Correct Answer :-

« Malaria/ Tafan

13) Insufficient food intake could be due to:/ 3UUt W <UEW _ F BRI & Tl &:
1. Poor meal planning/ UISH B TRIS I

2. Missed meals/ IS 318 &

3. Poor health practices/ TTRH &1 WRIS 3ATedl

4. All of the above/ STRIad Tt

Correct Answer :-

« All of the above/ IWiad T+

14) The period of transition from childhood to adulthood is called:/ STCUTa®IT ¥ TURBTIRIT H THAV P s@UPH _ Ped @
1. Middle age/ H¥ 93:

2.0ld age/ Ia¥IT

3. Adolescence/ fH2IR 93

4. Preschoolers/ gd-faemet

Correct Answer :-
« Adolescence/ IR a:

15) Which of the following vaccine is not covered under Universal Immunization Programme?/ Fg # & @19 #t d=i=

T e Ao FriwH & agd e T8 82
1. OPV
2.BCG
3.DPT

4. IDD

Correct Answer :-

- IDD

16) The protein in raw egg whites that binds biotin, preventing it’s absorption is called: /Wﬁﬁmﬁmtﬁ?ﬁ?
St IO | SMafRd EIHT SUS aMYN B AH AT, bedEl &:



1. Avidin/ Tfaf&

2. Biocytin/ ST

3. Carboxylation/ BTalfaaciBRor
4, Biotinidase/ SRNfCATESH

Correct Answer :-

. Avidin/ Tfafsa

17) Which of the following should not be included in the diet of pregnant woman?/ Wih?ﬁmaimﬁsﬂﬁﬁm
=nf¥re Fgt foear s afge?

1. Protein/ e

2. Carbohydrate/ Eb‘lﬁﬁ“s’ls?{c'
3. Smoking/ YHduTd

4. Vitamins/ fae1fiq

Correct Answer :-

» Smoking/ YguId

18) Lactose is present only in:/ maﬁﬁ_ﬁmﬁm%
1. Milk/ g4

2. Cereals/ 3T

3. Fruits/ ®d

4. Vegetables/ Tfesral

Correct Answer :-
« Milk/ q¥

19) Maternal iodine deficiency is associated with the following complications in the infant:/ HATdT # e $t HHY, FaeTd
Ry A 39 | forg sifewar @ g@fRa @

1. Congenital abnormalities/ SIS SETHTIATY

2. Neurological cretinism/ df~e g sel-dT (@H-dn)

3. Increased prenatal mortality/ W@Wﬁq@
4. All of the above/ JURred T+

Correct Answer :-

« All of the above/ ITRIad Faft

20) Janani Suraksha Yojana (JSY) aims to reduce: / m‘-ﬁ'\nguﬁw JSY) Wﬁ&u_aﬁm%:
1. Neo-Natal Deaths/ 7TaeiTd gl &t §g

2. Maternal Deaths/ HIq Hg

3. Both of above/ SWRIad &A1

4. None of these/ 19 I ®Is g

Correct Answer :-

« Both of above/ IWRIad gl

21) The physiological fuel value of protein is:/ W& BT IWRFHATHAS S A &:
1. 4.0 Kcal/4.0 fraicpany

2. 4.80 Kcal/4.80 fraipanst

3. 5.65 Kcal/5.65 fraiarn



4.9.45 Kcal/9.45 feaibar)

Correct Answer :-

« 4.0 Kcal/4.0 fpaipant

22) Protein present in egg is known a:/ 3 § SR WIS HgT oM@ &
1. Complete protein/ Twof M

2. Incomplete protein/ 3@@2‘1‘(

3. Partially complete protein/ &mwﬁqﬂftﬁ'ﬁ:{

4. None of the above/ IIRad H ¥ HIS g1

Correct Answer :-

« Complete protein/ Tuf T

23) Ascorbic acid deficiency causes the disease:/ RHIGH AP FHM A ATHS IV a1 &
1. Scurvy/ P

2. BeriBeri/ ERIER]

3. Night Blindness/ et

4. Pellagra/ CRIp

Correct Answer :-

. Scurvy/wv_cﬁ

24) solid food first time added to an infant’s diet is called:/ TaTd I & MR & Ugehl IR WIS WS WGP bed &
1. Colostrum/ Uy (HIReH)

2. Beikost/ W

3. Gruels/ &fern

4. Feed/ HioH

Correct Answer :-

. Beikost/ 93®RE

25) Limiting amino acid in cereals is:/ 3ATS # FHTERY 3ty GIWT%:
1. Lysine/ AR

2. Tryptophan/ et

3. Threonine/ Qanf

4. Methionine/ [

Correct Answer :-

« Lysine/ @maRA

26) Vaccination involves administering a certain breed of:/ mﬁ_iﬁwwiﬁ‘ﬂﬁ?ﬁmmmﬁ:
1. Living viruses or bacteria/sifad fawmopaft a1 sfarogsit

2. Dead viruses or bacteria/ g fasmopsif ar Sfarupaif

3. Chemicals/ TG

4. Dead Fungi/ §d ®do

Correct Answer :-

« Living viruses or bacteria/Siifad fawrpaif ar Starupsi

27)



Additional calorie requirement during 0-6 months of lactation recommended by ICMR-2010 is:/ AU & 0-6 111'5’3?37?17{,
ICMR-2010 EIRT Srg=ifra sfafyaa Fadt smazawar 2:

1. 600 kcal/day/600 fFaidary/fe
2. 550 kcal/day/550 fraipaRi/feT
3. 450 kcal/day/450 faip @R/
4. 350 kcal/day/350 fpaibary/fe

Correct Answer :-

« 600 kcal/day/600 fpaibarl/fe

28) Protein requirement of an adult male according to ICMR 2010 is:/ ICMR 2010 §RT 905 Jo ¥q 3RiRd W= #t
HTIIHAT &:

1. 30 g/day/30 W/

2. 40 g/day/40 W/

3. 50 g/day/50 mfeE

4. 60 g/day/60 T/

Correct Answer :-

- 60 g/day/60 /&

29) The diet of a protein energy malnourished child should be:/ Eﬁ?ﬁ?—ﬁﬁﬁ?@ﬁﬁﬁ%%ﬁ_wmﬂﬁql
1. Rich in poor quality protein and high in calorieslwwaﬁﬁﬁ?ﬁwﬁﬁﬁaﬁﬁw
2. Rich in good quality protein and high in calories/ 3/t T[uraw aTal WA F TG U HAR) B I A
3. Rich in good quality protein and low in calories/ 3/t Turawl aTal WA & TS U Ha! B g A
4. Rich in poor quality protein and low in canries/WwaﬁmﬁwﬁwaﬁmﬂﬁT
Correct Answer :-

« Rich in good quality protein and high in calories/ e8! TUrETT AT W H J TG TF ORI &1 S AT

30) Which prophylaxis programme was initiated by the Government of India in the Year 19622/ YRd I¥®R gRT af 1962
T ST IFRIY STIHH R fo5ar T/ ATl

1. Vitamin A prophylaxis programme/ faeifi A AnRIY srdemH

2. Nutritional anemia prophylaxis/ Tryor grawf Iadredar IERY

3. Iodine deficiency disorder programme/ 3TaTe T AR HRiHH
4. Goiter control programme/ TdT fa=aur ST

Correct Answer :-

. Iodine deficiency disorder programme/ 3TaISH Tl AR HRiHH

31) Maternal folate deficiency associated with an increased risk of neural tube defects in the infant is known as:/ HTdl

H e @t o, Tawrd Ry § 399 / S1H-8 af~ieT 919 3y (e wd e ¥ wifew # 9fs @ g @
1. Spina bifida/ rET aSftaT

2. Anemia/ I

3. Hypoplasia/ sTaaT@yan

4. Hypocalcaemia/ graUIG e Em

Correct Answer :-

« Spina bifida/ ST STl

32) Measles is an infectious disease and it is comes under the category of:/ mwwﬁw%aﬁvw_aﬂ Joft o
37T &

1. Foodborne disease/ WoraTfed AT



2. Waterborne disease/ S@@ligd T
3. Airborne disease/ argagd M
4. Deficiency disease/ =l AT

Correct Answer :-

« Airborne disease/ Igaligd I

33) Which of the following statement is incorrect?/ Eﬁﬁﬁ?—'ﬂTWW%‘?

1. Tuberculosis (TB) is an infectious disease caused by the bacterium Mycobacterium tuberculosis / ngcﬂgmu'%ﬂ (aapf)@ TGS I

TS a1 gRI gl &
2. Infection caused by the bacterium Clostridium tetanis Tetanus/IARETSTH fe2=t A ATy & HRUN S ATHS YhHUI SiT &
3. Cholera is an airborne disease/ %GITWBTQT:!T%H@T%
4. Malaria occurs due to biting of mosquitoes/ AT T3} & Ppred I 8T §

Correct Answer :-

« Cholera is an airborne disease/%x‘rﬂ@@ﬁ%ﬁﬁ”%

34) The gestation period for humans continues until the child is born and the “normal” gestation period is about:/

st ® mf Ft srafty Rigy o qob Tt @ ok g T mf srafu e et @
1. 25 weeks/25 g
2. 40 weeks/40 GwITg
3. 50 weeks/50 9t

4. 55 weeks/55 9«llg

Correct Answer :-
« 40 weeks/40 KT8

35) How much calories and protein are given to Pregnant women and lactating mothers under the revised (February

2009) norms of ICDS?/ ICDS & RN ATAS! (B 2009) F MHaedt Ud Ta-TurH H1 T8 Afgansii & fpait et vd wd= fed = 82
1. 500 Kcal; 12-15 g/500 fpaibaRy; 12-15

2. 600 Kcal; 18-20 g/600 fpalibaiRy; 18-20 1

3. 1000 Kcal; 18-20 g/1000 fFaibas; 18-20 71

4.1200 Kcal; 20-25 g/1200 fEeNBeisY; 20-25 7

Correct Answer :-

« 600 Kcal; 18-20 g/600 fEelpaR); 18-20 U1

36) A deficiency of calcium in the blood is called:/ IR A S RIA S FN A wgroErs:
1. Hypocalcemia/ ST eI T

2. Hypercalcemia/ STaURGeITRET

3. Phosphorylation/ BIEBIRHIGRT

4. None of the above/ 378 ¥ B3 T8l

Correct Answer :-

« Hypocalcemia/ gUIG AT

37) During diarrhoea of the baby what will you do?/ I3[ #I g% g1 9 W 319 1 B2
1. Doctor should be called at once/ g fifrcad® &I gama

2. Boiled, cooled water should be given frequently/ IaTd &R 331 faT oid TR-IR frame

3. ORS should be given/ ORS 3

4. All of the above/ ITad Tt



Correct Answer :-

« All of the above/ Iudad Tt

38) Which deficiency in children occurs even in mild case of diarrhoea?/ 3% & ga®-pad aral # +ff = & frast it @t
STl 82

1. Zinc/ TSl

2. Potassium/ UIeRrm
3. Fat/ 941

4. Protein/ WdH

Correct Answer :-

. Zinc/ i@

39) Which of the following disease is not protected by vaccination under Universal Immunization Programme?/

PRIHH & faifa 30 W foa 7 F fae Tveror =48 foar mar 82
1. Diphtheria/ fe®itfean
2. Polio/thﬁﬁﬁ

3. Tuberculosis/ &% I (CIERP ANRT)
4. Cancer/ Hﬁﬂ'ﬂ(m

Correct Answer :-

« Cancer/ & A (FM)

40) C. Gopalan, in 1971 did systematic diet survey and found that kwashiorkor and marasmic children consume
similar diets and brought out the a theory that is known as: /3. Trure 3 af 1971 # T Gfara smerR Tder far ot o
I U foF SRR iR IR | AiSd st & SMeR YT Tu A 3R 39 YR R 3511 U@ Rigr fear v & AT AT
EIGIE

1. Theory of dysadaption/ 3T (FSITSPRM) &1 Rigra
2. Theory of adaptation/ 3% &1 Rigrd

3. Theory of malnutrition/ SOOI &T RIgd

4. Theory of nutrition/ Tl &1 Rigrd

Correct Answer :-
« Theory of adaptation/ & &1 g

41) The first dose of 100,000 IU administered at 9 months of age, along with measles vaccine is:/ 9111'5'351 SITEI‘RW
P IR & ATY S T 1,00,000 [U B TR GRID P A &

1. Vitamin A/ faaif= A
2. Vitamin ¢/faerfim ¢
3. Vitamin B/fqeiffA B
4. vitamin E/ fqeIM E

Correct Answer :-

« Vitamin A/ faerf®= A

42) During pregnancy the Human Chorionic Gonadotropin (HCG) is a hormone produced by the:/ YR %Wiﬂ'ﬂ?
pifvaife (HCG) & gIHH BT JauTe FRT BT &:

1. Ovary/ 3iSRH™

2. Placenta/ T (‘ﬁﬁ?ﬂ)

3. Mammary gland/ T ufRt

4. Fallopian tube/ WaIfuTA AT



Correct Answer :-

« Placenta/ YT (@¥en)

43) Which ministry has the overall responsibility of monitoring the ICDS Scheme:/ f% W=Ied W 1CDS e # FARRT
P THY SRR 82

1. Ministry of Rural Development/ JTHTUT fa&T Harea

2. Ministry of Women and Child Development / Afgal Ud ST fasm #arad
3. Ministry of Urban and Rural Development/ T3t Td I faeb ATerd
4. Ministry of Agriculture Development/ $fY fasw™ T=aTe”y

Correct Answer :-

« Ministry of Women and Child Development / Afgdl Td aTd fde T He™d

44) Digestion of polysaccharide begins in the mouth by enzyme:/ T& & UlcHA®RISS & U $T 3R AT TSTSH §IRT

1. Ptyalin/ @fed
2. Lactase/ aEI%GI
3. Lipase/ E@GT
4. All of the above/ SuRa Fft

Correct Answer :-

« Ptyalin/ @fem

45) The growth and development of girl child is not adversely effected by:/ aTiii@rs Ft 3f d fawg w J ufawa
qYTa T8l USar 8

1. Nutrition/ YT

2. Early motherhood care/ 3R AT@ c@HTA
3. Caste/ SiIfdl

4. Healthcare/ T C@HTA

Correct Answer :-

. Caste/ Sifd

46) Normal iron requirement during pregnancy recommended by ICMR-2010 is:/ ICMR-ZOIOWWWQ?WGW
qTHT man?ﬂuw%;

1. 35 mg/day/3s ffea
2. 45 mg/day/45 /e
3. 75 mg/day/75 /e
4. 100 mg/day/100 finfea

Correct Answer :-

« 35 mg/day/35 feRmfea

47) The commonly used measures for detecting malnutrition in children is/ are:/ aahﬁgmwmmmﬁ%g SMAARW
Tgad SUTT 8/8:

1. Stunting/ q@w

2. Underweight/ 0 § 8 YR
3. Wasting / &4t

4. All of the above/ Iudad Tuft

Correct Answer :-

« All of the above/ Iua Tt



48) High protein and high calorie diet is recommended for:/ % 1T 3= WidiH U4 3= $aid} 3MER $I =T H STl 8:
1. Malnourished child/ $UITYd st

2. Obese person/ AleTdT Td fadal

3. Adult / Fa%pT

4. Hypertension/ S=R&ddd

Correct Answer :-

» Malnourished child/?lﬂﬁ’daﬁﬁ

49) The important mineral within bone are:/%‘%‘lﬁﬁmﬂﬁmﬁ'ﬁ'@aﬁﬁﬁ
1. Calcium, phosphate and chloride/ W, BiEhe @Tm

2. Calcium, phosphate and iron/ SfeXEH, HiEhe 3R STORA

3. Phosphate, magnesium and chloride/ iThe, BHifmH 3R FaRES

4. Calcium, phosphate and magnesium/ $eRTH, BiEhe 3R HfifREH

Correct Answer :-

« Calcium, phosphate and magnesium/ $eREH, Bihe 3R THfREH

50) During the 1st trimester (0 to 12 weeks of pregnancy), total weight gain for most women should be between:/

et farumet ArufaT & 0 @ 12 Iwme) ¥ R, st aRasi d Rl Fdwa-t olRw
1. 0-0-0.5 kg/0-0 ¥ 0.5 fow3m

2.0.5 - 2 kg/0.5 9 2 fpmn

3.2.0-4.0 kg/2.0 ¥ 4.0 T3

4.4.0- 8.0 kg/4.0 9 8.0 foum

Correct Answer :-

« 0.5-2kg/0.59 2w

51) Services sponsored under ICDS to help achieve it's objectives is/are:/ ICDS % 3£x4l &I Uty & TeTadT & W Iq&H
=it yrfora darg 273

1. Immunization, Supplementary nutrition, Health checkup/ TfoRefieR, WW, Wy SiE

2. Referral services, Pre-school non formal education/ SOV XWhRd) aTY, Yd- et Sruenie et
3. Nutrition and Health information/ TYNUl Ud TR SIHHTRI

4. All of the above/ B‘miﬁﬁﬁlﬂ

Correct Answer :-

« All of the above/ ITjad Tt

52) Which of the following genetic disorders that can be diagnosed before birth?/ 378 ¥ f TIdfRIs fdeR H =1 Uga
g o qehdl @2

1. Hemophilia A/ SHTwIfe™T A

2. Thalassemia/ DRRIED]

3. Sickle cell anemia/ fufea Ia wifermn
4. All of the above/ Iudaa Tuft

Correct Answer :-

« All of the above/ B'q'?i?ﬁﬁlﬂ

53) The Indian Government has started pulse polio immunization program to ensure that children up to 5 years of age
get polio vaccine free of cost:/ YRd WPR 7 Tg FHATHT $A & g ued Wifera uferefeor srdw emewy far § f s ad 9o ot emg
ard =i Bl 131 Ao awii= fra:



1. Twice a year/ A IR

2. Thrice a year/ T FfT IR

3. Four times a year/ 3 # R sR
4. Five times a year/ T ¥ gfg SR
Correct Answer :-

« Twice a year/a'ﬁfff?ffaﬁ

54) Infantile pellagra is widely prevalent among children in areas where staple diet is:/ mm@ &=t # w=i § sarue
FUF U G'HT%GIBTWE'@ el

1. Rice/ d1dd

2. Wheat/ ﬁEV

3. Millet/ dToRT

4. Maize/ HIDI
Correct Answer :-

« Maize/ Hadl

55) Infection of Chorion, Amniotic fluid and Placenta is called:/ SRTq (@A), 37 a¥a (THAEH Wigs) 3R T (Wien) &
TPHN S HEd 8

1. Chorioamnionitis/ HINATAAMTSCT
2. Anthrax / TRIed

3. Hepatitis A/ 3UcTsfed A

4. Tuberculosis/ &3 IT (CIERP M)

Correct Answer :-

« Chorioamnionitis/ ®RagREMTSeT

Topic:- General Knowledge and Logical Ability

1) National Commission for Women is headed by:/ !T@'q HIZET TN FT A& &
1. Lalitha Kumaramangalam/ @idT SHRETEH

2. Menka Gandhi/ T7epT TITeR

3. Mamta Sharma/ HHdT A

4. Sushma Swaraj/ JYHT TR

Correct Answer :-
« Lalitha Kumaramangalam/ @frdl $HARHTAH

2) Which answer figure will complete the pattern of the question figure? / e & 4 $9 @ I Gﬂ@'ﬁfu‘}l &Wﬁﬁ Tlf H¥?

Question Figure (73 3TEHfA Answer Figures | 3o 3Tl

N
e




Correct Answer :-

3) In India, child sexual abuse is defined by which of the following Act?/ HRd ﬁ, EIGEIE] W’a‘ﬂ ol S':Tﬁ J fora siftifraw gy uivurfye fear man @2
1. Juvenile Justice Act/ TH=IR =am srfdfaw

2. Domestic Violence Act/ ‘ﬁ?‘[m KRS

3. Equal Remuneration Act/ THH TIRaN® i am

4. Child Labour Prohibition Act/ aTa s 8 srfdfam

Correct Answer :-

« Juvenile Justice Act/ f=IR =amT Sifdfay

4) Home Science is an:/ Ty @ &

1. Applied science/ ST faqH

2. Biochemical Science/ SaREE® fag

3. Pure Science/ Y& CEIE]

4. Animal Science/ ST<q GEIE]

Correct Answer :-

« Applied science/ 3IwRad A

5) Why is Sharda Act important in the Indian context?/ HYRA & Wﬂﬁm Glﬁlﬁ'ﬂ'qﬂ'@‘ﬁ'{uf Y %?

1. It recommends free education for all children up to the age of fourteen/ 78 digg Y dw & Tt F=i & o e R1en B S FRaT @
2. It recommends supply of study materials to girls free of cost/ I8 qferepTan Y ﬁ:?{[v_m" 3reqa gt G{T‘Ifﬁ Edl ERERIERGI g
3. It prohibits child marriage of girls/ Ig qferepTal @1 a1a-faarg Fftg F=ar %

4. Tt prohibits child labour/ T Tet %H Fiftig a1 &

Correct Answer :-

« It prohibits child marriage of girls/ I8 STl &1 a1d-faare g ®var %

6) The advantage of MS WORD is in:/ THEY a8 &1 @14 A e &
1. Letter writing/ ERSTCE]

2. Preparing lecture/ RHAT IR FA

3. Preparing question paper/ Y T QUR B

4. All of the above/ Suad T+t

Correct Answer :-

« Al of the above/ Iudad Taft

7) ECCE is the abbreviation of:/ SHI{IE &1 [T A1 &:

1. Early Childhood Care and Education/ 3Tl G15t8gS HR U8 ThH

2. Early Culture of Care and Education/ 3cif PR 3MTH Wﬁg Q@‘ﬂ:{

3. Early Childhood Concern and Compulsory Education/ WW@W e WQ@W—T
4. Early Childhood Compulsory Education/ aﬁﬁ%rsvsg:e; WQ@&’F{



Correct Answer :-

» Early Childhood Care and Education/ &ﬁﬁam@rs’ FW TS Qﬁﬁﬁ -

8) The Dowry Prohibition Act was passed in:/ 3%31' oy aifuferaw H uiia BT UT
1. 1961
2. 1971
3.1981

4. 1991

Correct Answer :-

« 1961

9) The family headed by a female is known as:/ Afe@r gfaT ara ufar &t gl oIl 8
1. Patriarchal/ TqeRTeT®

2. Matriarchal/ ATqEATETS
3. Matrilocal/ TR

4, Patrilocal/ Ufefe
Correct Answer :-

» Matriarchal/ HTqaIHD

10) Which of the following is not a graphic file extension?/ 34 & F9 Bt Mfh® (RETo®) BEd o1 TR (TRR=TM) T8 @2
1. .JPG

2. .BMP

3. .PNG

4. .DOC

Correct Answer :-

» .DOC

11) The Hindu Succession Act 1956 provides for women the right to:/ %ﬁm Sifuf~aw 1956 Afgarsi &Y @1 SAfUPR a?ﬂ%:
1. Maintenance from husband/ ick ﬁiﬁg TG g

2. Childless woman/ F:ddm Afgar

3. Intercaste marriage/ 3T ﬁ?ﬂ'&'

4. Paternal property/ Iq@ Ty

Correct Answer :-

« Maintenance from husband/ afd & fafe oo UM

12) Fertilization of ova in humans take place in:/ 'lF:[ﬂﬂ H 3vs FIR®T BT == ﬁﬁ?ﬂé:
1. Ovary/ 3SR

2. Vagina/ o

3. Fallopian tube/ Tafag T

4. Uterus/ yferg

Correct Answer :-

« Fallopian tube/ WaTUT AferdsT

13) FCI stands for:/ FCI T X7 - &:

1. Foreign Co-operation with India/ BIRA $I-3TR=H fag fean
2. Food Corporation of India/ S HRURRA 31t fsan

3. Fossils Corporation of India/ PIRCH HRURRM 3ith Sfgar

4. Food Coming to India/ t.cfg_erav"fﬁﬂ T e



Correct Answer :-

« Food Corporation of India/ 7S ®RURTH 3t Sfear

14) A computer performs all mathematical and logical calculations through:/ TR TN AT Td afbS TUATE & Areaw & &l &
1. Central Processing Unit/ 31T TshHUT S6TS (S TRRIT gfe)

2. Memory unit/ S 3T (HARI gfic)

3. Output unity e SPTE (33T gfie)

4. Visual Display unit/ T4 Wa=i 3T (Rgard e gfve)

Correct Answer :-

« Central Processing Unit/ 3-51d UshH0T TH (@’T‘;a TRRAT qﬁz)

15) Kicking, punching, beating is an act of:/ <Td HRRHI, S‘fﬂT AR, e Caicay) %:
1. Sexual abuse/ g9 QB!f’cI%R

2. Physical abuse/ RTR® gaidgR

3. Emotional abuse/ WW’E’R

4. Financial abuse/ fa<itg W@R

Correct Answer :-

« Physical abuse/ ¥ iR @Rﬁl’s’ﬂ

16) Which among the following is the basic unit of society?/ 'sﬂﬁﬁ I TS BT Wﬁﬂ'ﬁv‘lﬁ %?
1. Husband and wife/ Tfd g gt

2. School/ famer

3. Family/ IRaR

4. Neighbours/ q@?ﬁ

Correct Answer :-

o Family/ uRarR

17) DIRECTIONS: In question given below select the related letters from the given alternatives./ ﬁﬁ;-‘tl: EiE] ﬁ'E T 9y ﬁﬂ'lz Ky fowreal A @ wefta
et BY g |

CFDB : XUWY : : GJHF : ?
1. SPRT
2. TSQU
3. TQSU

4. SPTR

Correct Answer :-

. TQSU

18) At what rate of interest will a sum increase by 30% in 2 years at S.I1.?/ & IR sarel B &} W 2 a9 & &I g=R=

30% WGIQ‘“?
1. 15%

2.12%

e
3. 102%

4. 30%
Correct Answer :-
« 15%

19) Binary numbers refer to:/ TR} GETSHt BT 3rf I



Correct Answer :-
« 01

20) Two sums of money are proportional to 8: 9. If the first sum is Rs.200, find the other sum?/3ARI8: 9 Q?WTE[CIT?P[
g afe ugel TR %.200 3,a gadt IR 719 Y|

1. Rs.210/ %.210
2.Rs.225/%.225
3. Rs.245/ %.245

4. Rs.250/ %.250

Correct Answer :-

« Rs.225/%.225

21) Sarva Siksha Abhiyan was a scheme to improve:/ d e Sl . i qur %ﬂ@ o A
1. Legal status of women/ Afgamsit &t HFT fRufa

2. Functional status of women/ Higanaff &t FHrfers fRufy

3. Educational status of women/ Higena @t At Ry

4. Political status of women/ Tfgarst &t REEINCATR

Correct Answer :-

« Educational status of women/ ﬂ%ﬂ'l&ﬁ m‘T?er fa

22) The term for a fertilized egg from conception until the end of two months development:/ A3 de Hle & fapTg 9 F af & 'éhﬁ,
e srve HiRIeT B a1 et e @:

1. Embryo/ {01

2. Zygote/ S
3. Foetus/ Ty frg
4, Ova/ 3108 BIReT

Correct Answer :-
» Embryo/ Y01

23) Which one of the following diagram represent the relationship between husband, wife and family?/ frddsa @R Wﬁf, tlﬁf,tlﬁl R
iaR ¥ Heg qrE B Rl 82

©

OO

4.

Correct Answer :-



24) Marriage to more than one wife is called: /T& J 3iftre Telt & ﬁﬂﬁ_ﬁm %:
1. Polyandry/ TSIE'CT%EI

2. Polygyny/ a@u-pﬁa

3. Matrilineality/ HIGa<T

4. Matrilocality/ HIGUHUTACT

Correct Answer :-

« Polygyny/ SgUAE

25) B is the only child of only daughter of C’s paternal grandfather. How is C’s father related to B?/B, C ¥ aIal St ®1 SPdldl ¢l FI sPpalal Jar g1 €
% firan B A 5w R Tafia &2

1. Maternal Uncle/HTHT

2. Paternal Uncle/dTdT/dl3,

3. Father/fOar

4. Cannot be determine/STd -Tg! faraT ST Tahel

Correct Answer :-
o Maternal Uncle/HMHT

26) 4 4
20% of 50% of 5 of a number is 200. What is 20% of that number?/ T& IBIT & 5 BT 50% P 20% ,200 8| IT T I
20% foar g2

1. 620
2.375
3.560

4. 500

Correct Answer :-

« 500

27) National Literacy Mission is a programme for:/ ?T@Tl TrerRan e %31275 HTdHH B
1. Education/ fifr

2. Health/ &g

3. Nutrition/ GToT

4. Housing/ 31

Correct Answer :-

« Education/ e

28) AIDS can spread from an infected person to another person through:/ T8 T& Tepfd aafed & W fed BT _ P H1eaH A el Febdr %:
1. Sharing food/ WWW

2. Blood transfusion/ YT (T El?._!ﬁ)

3. Sharing comb/ 8T T B

4. A mosquito bite/ ABR & HIeT

Correct Answer :-

» Blood transfusion/ Y& (g TgH)

29) What should come in place of the question mark (?) in the following question?/ fF=fifad v & wxaas R ) &
RIF W T 31T AMfeQ?



126 + 14 x 9-53 = (?)
1. 28

2.76

3.18

4.-52

Correct Answer :-

.« 28

30) Gastric secretion is stopped by which among the following hormone?/ sﬂ'ﬁ J BI-41 '@'Tqﬁ Ei vk ckakica| %‘-’
1. Enterogastrone/ Qﬁ'ﬁ?ﬁl’ﬂ

2. Cholecystokinin/ PARREIBIRAT

3. Gastrin/ A

4. Pancreozymin/ Wmﬁq

Correct Answer :-

« Enterogastrone/ TG H

31) A sudden but permanent change in a segment of DNA is called:/ DNA ¥ P @S ¥ il g -t afvadT &Y Pl I &:
1. Mutation/ IaRadT

2. Inheritance/ GRIFEITAdT

3. Phylogenetic functions/ STfA-giTced TR

4. Ontogenetic functions/ W@[—W i Cat

Correct Answer :-

« Mutation/ SARad

32) In India child laborer is defined as a working child in the age group of years and below:/ YRa # af Td IT FH g F

BTSS! 9 1 a1 4fs F =0 7 ufvuriya fear war @:

1. 14

2.13
3.12

4. 10

Correct Answer :-

. 14

33) National Rural Health Mission (NRHM) launched in:/ IT§10 Ifior R4 fag (NRHM) &1 3R __ ¥ faar mam ami
1. 2004
2. 2005
3. 2006

4. 2007

Correct Answer :-

e 2005

34) Coding of the data is done to assign:/ SCT BT PIHST _____ 3HTST $1 & € T} o1t &
1. Numeral to answer/ IR &I TP

2. Symbol to answer/ ITR B! Ui

3. Both of the above/ SURI Gl

4. None/ aﬁs‘ el

Correct Answer :-

« Numeral to answer/ StR & IHH



35) A man from a fixed point, walks 4 miles north, turns to his right and walks 2 miles, again turns to his right and walks 5 miles, again turns to his
right and walks 3 miles. In which direction does he faces now?/Td 3ieHt Uw ff¥a fig & 4 e IR f=m & =eran 21 bR i gew 2 Wia gaar 81 fe
ST g 5 W IadT 1 3P 915 fhR 1Y oo 3 Wl Tl 81 3 SUPT G fobw fa=m & @2

1. North/3«iR

2. South/f&mr

3. East /11?1c

4. West/qfgm

Correct Answer :-

. West/q'ffﬂ

36) Average of five consecutive even numbers is 12. Find the largest number./ Ui TTdR I8 e o1 3NEd 12 ?l?‘l’clﬁ
TS T 19 B |

37) What should come in place of the question mark (?) in the following question?/ f=fad w=a & wrHaras g ) &
RIF W T 31T A1feE?

25% of 8800 + 20% of 5500 = ?% of 13200/ 8800 PT 25% + 5500 T 20% = 13200 T ?%

4.25

Correct Answer :-

« 25

38) The Integrated child Development Service (ICDS) was introduced in the year:/ TP ara faTd Jar (ICDS) &T IR af ﬁ'garr KIB
1. 1965
2. 1975
3.1985

4. 1995

Correct Answer :-

e 1975

39) 12 Men can complete a piece of work in 20 days. In how many days will 3 men complete that work?/12 &4 T&

P B 20 o R R T &| I B B 3 7o fpam fo & gy He
1. 50 days/50 f&
2. 60 days/60 fa
3.40 days/40ﬁ:[
4. 80 days/80 f&a

Correct Answer :-

« 80 days/80 fad

40)



DIRECTIONS: What should come in place of the question mark (?) in the following letter series?/ fd=r: fFafif@a sier 3vft & wyars g (2) F WA R &0
3T

b,s,i,mc tj nd uk, 2.
1.q
2.0
3.p

4.r

Correct Answer :-

41) Which of the following is not an ingredient of ‘MS Office’?/ 370 ¥ P, 'THTH T’ &1 TP UTH -6l 82
1. MS Word/ THTH T8

2. MS Excel/ THTY TR

3. MS Power Point/ THTY UTaR Ulse

4. MS In look/ THUY S b

Correct Answer :-

» MSIn look/ THTH g1 JPh

42) Basic education (Nai Talim) is the concept started by:/ 3TURYG & (7t arefi) ___ §RT 3™ $t T} TP S@URON &
1. Jawaharlal Nehru/ STaTe<elle 8%

2. Mahatma Gandhi/ HgTeT T

3.S.K.Dey/ T8.5. S

4. Rabindranath Tagore/ fasTd R

Correct Answer :-

« Mahatma Gandhi/ H%’IEJTTﬁ'%ﬁ

43) DIRECTIONS: Find the Mirror image of the given group of letters./ f331: fou 7T =gt & Tg &1 v ufafaa wia w31

A
BUZZER

B
, A3ssug

2. RUZZEB
5. A3ZZUB

4. IREZZBU

Correct Answer :-

44) When an object is sold at Rs.836, the loss is 5%. Find the cost price of the object./ Waﬁﬁﬁ“& 836 TTAH 5 %
P g1f+ Bl 1 39 avg BT HU g4 FTd B

1. Rs.860/%.860
2. Rs.830/%.830
3. Rs.880/%.880
4. Rs.920/%.920
Correct Answer :-
» Rs.880/%.880

45) A person covers a certain distance at the speed of 30 km/hr and returns to the starting point at a speed of 50
km/hr. Find the average speed of the person for the whole journey./t& afa ts ffda gt 30 fpfiaa St afa d qa w=ar @



3R Ao SRR foig W 50 fpwi/eer & 7 | diear 31 $a ar=n & forg afea ot s 1fa 1 #1
1. 50 kmph/50 foHl g2

2. 37.5 kmph/37.5 fet e

3.48.5 kmph/48.5 fHl/ €¢

4.52.5 kmph/52.5 foefl/ 6¢

Correct Answer :-

« 37.5 kmph/37.5 fee ge

46) DIRECTIONS: Select the one which is different from the other three responses./ frd=m: 39 faey &1 9g7 &3 oY 3=y i & i %I
1. Bus/ 98

2. Train/ ?{

3. Truck/ ¢

4. Wheel/ afgar

Correct Answer :-

« Wheel/ Tfgar

47) PMGSY was started in the year:/ PMGSY ®T3R¥ a8 __ Hgam un:
1. 2000
2. 2001
3. 2002

4. 2003

Correct Answer :-

e 2000

48) The most conspicuous visible change that occurs in boys during puberty is:/ QIR F a?'ﬁ E@?ﬁ g E’ﬁ el Aaifie qy =9 qRadT %:
1. Increase in height/ ?IE!'I'{»‘ i q@

2. Development of voice box/ U DT faer

3. Production of sperms/ W&ﬁ CARCISIGE]

4. Increased sweating/ T 3 T

Correct Answer :-

« Increase in height/ TaE o gfg

49) UNICEF work for:/ TA% _____ % fog orf et 2:
1. Children/ s=af

2. Women/ figam

3. Divorcees/ m&ﬁ

4. Men/ Q'\Wﬁ

Correct Answer :-

« Children/ s=t

50) Count the number of triangles in the following figure./ o 3 fa & Rysi @1 Y@ A 31 |




4. 10

Correct Answer :-

e 12

51) DIRECTIONS: Study the following table carefully to answer the question given below./ o= FPafafaa arRo &

TGS e w1 ol 3 vy 1 IR g

Production (in Quintal) of different crops of a state in the given years./ f¢€ T¢ auf # e 7rea & fafia woal o1 Sared
(Pea )|

Crops/®dd 2005-06 |2006-07 |2007-08
Rice/madl 8920 7100 7920
Wheat/ 'ﬁ'é" 4800 5040 4610
Pulses/ aTel 1830 1580 1420
Sugar cane/ AT 29700 29430 28450

By what percent approximately did the production of wheat increases from the year 2005-06 to 2006-07 ? / af 2005-06 T 2006-

07 ¥ § & IaureT & T fopa= ufa=ia @1 3i g52
1.5%

2. 10%

3.20%

4. 15%

Correct Answer :-

e 5%

52) Internal bleeding can be caused by:/ & PRI TARS IFAHTG 81 Jhdl %:
1. Injury/ 4

2. Tliness/ IRT

3. Medication/ Tarait

4. All of the above/ IUdad Tft

Correct Answer :-

« All of the above/ Iudad Taft

53) In a certain language ‘TRIPPLE’ is written as ‘SQHOOKD’. How is ‘DISPOSE’ written in that code?/ fhff idhfa® HIYT # ‘TRIPPLE’ &) ‘SQHOOKD’
foraT ST & | 'DISPOSE’ FY 3t TSt # $ forar wimewm?

1. CHROMRD
2. CHROMSD
3. CHRONRD

4. CHROORD

Correct Answer :-

« CHRONRD

54) Window 2007 is an:/ fd8s12007T& __ &:
1. Operating system/ S{TaRfET Red

2. Control system/ mﬁlﬁﬂ

3. Memory system/ A} Req

4. Life system/ A% ReH

Correct Answer :-

« Operating system/ 3{TRfeT Req

55) Which of the following glands secrete oil?/ 378 & B-8t 9f Aa wifad Bt 22



1. Thyroid gland/ 3/ag (YRRIZS) U

2. Pituitary gland/ tﬂqq IRy

3. Sebaceous gland/ TawT (RsfRre) 7=y
4, Endocrine gland/ 3=-9d! 4f=Y

Correct Answer :-

« Sebaceous gland/ @TawT (Rrafmaw) oY

Topic:- Managerial Skill

1) The skills required for carrying out any job successfully are termed as:/ 6l ST & TEAAYdD B 3 SATAAD HIRIA!
Bl HET o &

1. Soft skills/ safdTa Hath B

2. Communication skills/ ¥9R S

3. Facilitation skills/ GTHI®HROT BT

4. Hand skills/ 5% I

Correct Answer :-

« Communication skills/ TaR BA

2) The person who is not paid for his work is a:/ 30 &1 & T PAA T TR g AR F_ Fea &
1. Lay leader/ 3yfRiféra aam

2. Top Leader/ i e

3. Professional leader/ 9R/aR ~dl

4. None of the above/ IRad § ¥ HI3 e
Correct Answer :-

« Professional leader/ 9=a% Jdr

3) Television is a:/ ¢AifesHE® @
1. Media mix/ A1eaH fgor (@ifsa i)

2. Source/ A

3. Medium/ ATead (FHifsam)

4. Channel/ Fﬂ'l‘f(%l:lﬂ)

Correct Answer :-

« Channel/ T (3a@)
4) A continuous geographical area is a component of:/ ddd e &= WWE’IHT%

1. Group/ 998

2. Community/ ¥qcarI

3. Social change/ JTHTRI® TG
4. Social control/ ATATRS a0

Correct Answer :-

« Community/ 94ard

5) DRDA expands to:/ DRDA & TRT °ATH B

1. District Rural Development Authority/ foren artor fawmra urfiexor
2. District Rural Development Agency/ frar mfior faem woldt

3. District Rural Development Act/ o st fasma siftifaw



4. District Rural Development Association/ foTe UTHIUT fasT TEIRIERH

Correct Answer :-

« District Rural Development Agency;/ forar aritor g woid

6) Micro Level Planning is an example for:/ '\‘I\EWWWW%:
1. Imperative planning/ ffard areFT

2. Five year planning/ U=asifa gieHT

3. Regional planning/ REIBRISEI

4. Target group planning/ WWW

Correct Answer :-

« Regional planning/ REIBKIEE|

7) The degree to which an innovation is difficult to adopt is called:/ ®§ 79-Uad+T AT fohq WA aF HTe7 8, 30 &gl
ST R

1. Observability/ qefaerdr
2. Complexity/ TRedr

3. Compatibility/ 3 adl
4, Triability/ TarmafEar
Correct Answer :-

« Complexity/ aftadr

8) Adopter categories are the classification of the individuals within a social system on the basis of:/ &l (TSILR)

AT ATS G P SR P 3MYR W AfGaa] BT B0 &
1. Rate of adoption/ T8I &R (T 3T TSI=M)

2. Innovativeness/ Tauad-1adT

3. Social system/ TS dF

4. None/ 18 7!

Correct Answer :-

. Innovativeness/‘ﬁ'ﬂﬂ?&ﬁﬂﬁl

9) Minimum need programme was launched during:/ <JdH STl PTAHH _%a?ﬂ SR fomar T AT
1. 3rd five year plan/ des) daaufg gemr

2. 4th five year plan/ 9 Gaaufa aremT

3. 5th five year plan/ Urd] t=ayfg demT

4. 7th five year plan/ gradt taadfa gremr

Correct Answer :-

« 5th five year plan/ Grad] U=ras{a areHT

10) Planning in India as it is at present can be termed as:/ HIRd § qaHT § g1 38 S F1 Fg1 ST &
1. State planning/ I ST

2. Centralized planning/ %igd Ao

3. Decentralized planning/ ddgigd e

4. Indicative planning/ S&areied o

Correct Answer :-

« Indicative planning/ S dId® T



11) According to Berlo, the communication process has:/ 9@ & JJOR, TAR UpaId A&
1. Four elements/ @R 9c®

2. Six elements/ &: Ycdh

3. Eight elements/ 3{16 Ucdh

4. Ten elements/ ¢4 Ucdh

Correct Answer :-

« Six elements/ ¥: Uddh

12) Training is basically a:/ WU gaa: T&__ &:
1. Product/ 3dTq

2. Process/ Ufehdl

3. Activity/ Tifafafer

4. Programme/ R

Correct Answer :-

« Process/ Ufsar

13) The State having highest literacy rate is:/ ol FT&RAT &2 are I &:
1. Uttar Pradesh/ IR USRI

2. Kerala/ CaRG|

3. Tamil nadu/ afad g
4. Odisha/ 3nfsam

Correct Answer :-

. Kerala/ ¥3@

14) The leader who directs others to do a work is known as:/ mﬁmﬁ%mmﬁmﬁmﬁ_ﬁa%
1. Autocratic/ R

2. Democratic/ TSI~

3. Laissez Faire/ SEI&U 7 & aTall

4. None of the above/ IWRIad & J H13 gl

Correct Answer :-

« Autocratic/ PR

15) The head of Planning commission is:/ Hifa smarm &5 HW&IHT_@RTH%E‘Rﬁ%:
1. Prime minister/JeTHaT

2. President/ Jgufd

3. Chief Minister/ TEIHA

4. Agriculture Minister/ &Y d#3t

Correct Answer :-

« Prime minister/JeET

16) Collection of facts is a step of:/ T} BT YUGUI fHHPBT TH W &:
1. Programme planning/ DTIHH TS

2. Co-ordination/ ¥H-9g

3. Controlling/ fa=0T



4, Evaluating/ Hgib
Correct Answer :-

« Programme planning/wm

17) The person who guides and influences others is called as:/ mmmhmﬁwma%mmﬁmm%
HEardT &

1. Teacher/ Rigr®

2. Parent/ fHYTTH
3. Leader/ Jar

4. Politician/ SIS
Correct Answer :-

. Leader/ Jdl

18) Which bank was involved in the rural infrastructural fund setup?/ ITHior sra== 1 At &t R & H19-91 S Jau 4
1. RBI

2. NABARD/ TTaTE

3. IDRB

4. SBI

Correct Answer :-

« NABARD/ A9 3

19) 'Akashvani’ is the centre for:/ ‘3THIREM ST I 8:
1. Radio broadcasting/ &3l TR

2. Television broadcasting/ MNIEEEEIEERII

3. Radio telecasting/ Y&} TefaTfeT

4. Television telecasting/ TafawH SalidIReT

Correct Answer :-

« Radio broadcasting/ Xf&a UHRUT

20) Method demonstration applies principle of:/ fdfUwexAd &1 Rygra any fan wimar @:
1. Learning by doing/ ®X% dRaq

2. Seeing by doing/ PP o

3. Doing by hearing/ﬁ?ﬂv_{aﬂ%{

4. Doing by touching/ WW_:T

Correct Answer :-

« Learning by doing/mﬁ@e{

21) Transfer of technologies by Krishi Vigyan Kendras to:/ 3R fagmds &) wrenfiferal &7 srarvr o= &
1. Farmers/ faamt

2. Farmwomen/ Afgal f&ami

3. Both of the above/ JWRIEd Gl

4. None of the above /G‘@Hﬁﬁ@fﬂﬂé‘l’tﬁ'

Correct Answer :-

« Both of the above/ Wi GHI



22) Which is not a step of extension educational process?/ 378 q B4 fawR & ufspar &1 ve =wRor 76t 82
1. Situation/ fefufa

2. Objective/ B%"\’CI

3. Teaching/ 3&Uq

4. Learning/ 3iftrme (@)

Correct Answer :-

« Teaching/ &MU+

23) Adult literacy programme can be considered:/ WW&WW@_WWW%
1. Formal education/ 3Nu=ies e

2. Informal education/ ST e

3. Non-formal education/ TR-3iies e

4. All of the above/ Iudad Tuft

Correct Answer :-

« Non-formal education/ TR-3Nu=ike fRrem

24) The basic unit of development under IRDP is:/ IRDP%WW%%W%—
1. CD block/ ISl il

2. District/ foran

3. Village/ g

4. Family/ 9RaR

Correct Answer :-

« CD block/ 3! st

25) Nature of the programme planning process is:/ HTdHH TreT u&maﬂu@ﬁr%
1. Unifying and integrating/ SIS-T U1l

2. Helping/ |gTIdl &1

3. Supporting/ Jud B

4. Sympathy/ WW

Correct Answer :-

« Unifying and integrating/ SIS @ THIHRUT

26) Rural development programmes are implemented by:/ ITHIVT fdeTq ®rdewl &1 ®erafaad_ gR1 fpar srar &:
1. DRDA

2. KVIC

3. CAPART

4. CSWB

Correct Answer :-

« DRDA

27) Self-help group concept was adopted in:/ﬁﬁmwﬁ S[AYROI _ff 3roATdY Wt A
1. IRDP

2. IAAP

3. PMGSY

4. SGSY



Correct Answer :-

« SGSY

28) The father of Extension is:/ fRARFIWAH__ FHI FEISET&:
1.J.P.Leagans/ . .

2. G.L.Ray/ S.Ta. @

3. 0.P.Dahama/ 3 cordl

4.1.B.Chitamber/ 3.8, R

Correct Answer :-

« J.P.Leagans/ . ).

29) Extension programme planning is a:/ WWWW_%
1. Social action process/ JTHIN® B UfhaT

2. Economic action process/ 3 &1 ufgrar

3. Corporation action process/ AT (HTURT) BT Ufshar

4. Political action process/ Iomfae s ufsear

Correct Answer :-

« Social action process/ STHISTS HTd UfhaT

30) Andragogy deals with:/ TSI} _ AgEfud g
1. Change/ URad=

2. Adult learning/ T8 3feRTH

3. Society/ THIS

4. Ancient civilization/ U e

Correct Answer :-

« Adult learning/ 3% 3T

31) Model viilage programme is:/ 3mext UTH HTAHH ©:

1. Pradhan Mantri Adarsh Gram Yojana/H%HTWBﬂ et 7 AT

2. Pradhan Mantri Kaushal Vikas Yojna/UeTTH= S {3 e aremT

3. Deen Dayal Upadhyaya Grameen Kaushal Yojana/ < TSl SUTeATd ATHTT BRI Do
4. Ajeevika/éﬂﬁﬂﬁm

Correct Answer :-

« Pradhan Mantri Adarsh Gram Yojana/94TFH31 3me=f ImH Tier1

32) Radio is an:/iﬁ!ﬁ@_%:

1. Visual aid/ Y gl SUH U]

2. Audio aid/ 4 HgTddh 3UDRUI

3. Audio-visual aid/ 4H-eG gD YD

4. All of the above/ ITa Tt

Correct Answer :-

« Audio aid/ 4o Hgl-Id JUhRUT

33) Acceptance and rejection are one kind of:/ TR T4 RAIHV TS USPR BI/BI &
1. Failure of channel/ #T&9H (%maﬁﬁm



2. Feedback/ BI&a® (GAI=M)
3. Treatment/ dgR
4, Empathetic feeling/ SHIIHfd BT r3a{fdl

Correct Answer :-

« Feedback/ BIS8® (YAI=M)

Topic:- RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFafafEa meriw # wmyde yese sad 9
o M sgfaeed u=Al Wl fawe &1 T Y1

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

W ag witfad a1 felfa avg 8 S STHeRT WIS HI 61 T &R 61 81 981 | Y WuR &1 S¢H 8T 31 WeRI 98 WHerR! 1T ¢ o) wariva
fopar =1 TET B 1 SIS (TAPITI) TSU B T THTH TPbol A Jefei w3 Ft ufspar & St ey siar-avf & e IHs@ # o= &Y | |ew
Peforad 8 oI R, Td T @ fopelt At (@en) & A1eaw § Wer o1 8| 98 UTHH Wi, rxfseh, safaaiTd, sraafaird a1 31 Aoy &1
IS OIS 8 THdT 8| TS PI 3=Td: UTaTehd| gIRT UTW Ud faeifed @1ore) o= o sirar 1 afe wia 7 wewr 3fe <1 & dar fear €, ot
Uhal i WoR B [P He1 7 THgM & HI$ U 781 gidl 1 3rd: T U=t ThardT BT [+vig, Wraspdt @ S« fire arel ufagfy
(FI8IP) F YR W HAT 8| g Uiy ag =R Thadr 1 ufihar o HRa U9 39 iR YRR 9914 ST U 3G9 giar 8l

3= ® 3raT @ weed, Forad ag ufvasr amar @ Rorad W= wer frar man 21 918 98 wgad YT 8 9T AT 9T W1, AR 3 gyTaRitedr ¥ g
Tef er HEayul giaT 8|

The living or non-living thing attempting to share information is called:/ mwmﬁwmmwsﬁﬁamﬁaﬁa
Ers kol f

1. Source/ @

2. Message/ A

3. Channel/ HTEGH

4. Receiver/ YT df

Correct Answer :-

. Source/ 9id

2) DIRECTIONS: Read the passage and answer the questions that follow./ a1 fFrafafed e & emyde yese 39& 9
& T sgfamedt wxal & 9 fywey o1 999 +¥)

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Td 9g Siifad a1 fHeiia avg § S ISR AT A BT TaTH R 61 21 T8t F 1Y WaR &1 3w BiaT @ | TR 98 SR AT ¢ ol "aria
e <11 381 {1 Pre (TSI WS DI TH YHTS! TPbor # TS B ot uftpar @ =it erafiy siar-anf & e qwsm & omar= g1 dew
Pelaiad 8l 91 W, Uid 1 &1 fHeft Anf @Fe) & areaw | ueH wdl 3| 98 HIHH M, Mo, Aafeard, sraafaard a1 3 Amt &1
PIS TS 8 ThdT & | T B 3T Wadpd! gRT U e faapifsa (Srprs) o= foran sman 81 afs wa 7 T 3fa &1 9 dur fpar g, @
Ueehd] &I Y B fIRHSd B T UM & HIs TAWT 761 gt 81 3rd: Wd U=t hadr &I iy, ureaeat ¥ 39 fires arelt ufegf®
(PTSIP) F YR W FAT 8| T8 WAy Taq TaR ThadT @1 9T B JE 09 39 SR YRR 9911 71 TP a9 gial 8l

3= ® 3 @ wed, T g ufvawr emar @ R wd=r ware fpar wan 1 =R 9% WgEd WTT 81 a7 AT 4T AT, SER Bt gHTaRiierdr & g
He sra=1 Aeaquf ghar &1



The information that is being communicated is:/ T B S G AR P ... BEd &:
1. Receiver/vTIddf

2. Message/ A

3. Channel/ HTEIH

4. Source/ A

Correct Answer :-

« Message/ =

3) DIRECTIONS: Read the passage and answer the questions that follow./ fE=I: fufe&a e $I wFyd® Ugs? 39&
3 T szl wxal ¥ O fiwen o1 9w ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

Ta g8 Siifad a1 fSeifa avg § S SFaT_) ATE S BT TaTH B @ 81 T8t A iy WaR &1 3w BiaT @ | T 98 e R AT ¢ ol "=
fopar =1 36T 81 BT (EAPIHIN) TSU FI T TUTH TPl A Fefei w1 Ft ufspar & <t srvfiy siar-avf & e qus@ # o= 8t | |

B 9 W, Uid a1 3! et Anf @9 e) & areaw | ueH wdl §1 98 WIHH M, R, Aafgad, sraafdard a1 3 Amt o1
PIS YIS 8 Fobdl 81 WS B 3=<Id: Uidpdi gRT UK T4 fapifed Sors) o forar wirar 81 afe @i 3 e S & & durR fear @, ot
Urerd! ot =T 31 fAifed w37 9 aug § 15 wuwr T8 gt 31 ora: Tia o= gweaar &1 ok, yrawal @ 9 Rrem aredt ufagd
(BIS) & SAMYR W BT 21 T UG Faq R TEad1 $1 ufpar o e 06 I iR YRR a9 $1 T 6w gidT 2

3 ¥ 3rmar @ g, o ag ufvazy simar 8 Rorad W= werH faram war 81 9T 98 Wgad HTNT 81 T 41 4T 9T, TR Bt guTasitadr & fag
Fe s Aewaqf ghar &1

The process of bundling the message into an effective package that is easily understandable for the intended

audience is:/ _____ GeU ) T AT ¥heT & Sefei o 3t ufspar g it vty siar-at & fore wwsm # s @)
1. Encoding/iﬁ@:[(qm

2. Decoding/ famisT @ifgm)

3. Transmitting/?iﬁw

4. Receiving/ TG

Correct Answer :-

« Decoding/ fa®isd (SiwifEm

4) DIRECTIONS: Read the passage and answer the questions that follow./ f3zr: fFafufaa meiw & e yd® s 3aF
o T agfacmedt vl o & fawey &1 9a= HY |

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g8 Sifaa a1 forifa aeg § S STt A8 S &7 9019 2 6! 81 6t A iy HuR &1 IgH BiaT 8| Taxr 98 sHe R A1 § o T
fopar =1 T@T 81 BYST (TAPITI) TS B T THTH TPel A Jefei w3 Ft ufspar & St arvfiy siar-avf & e gHe@ # o= &Y | |ew
Peforad g o1 R, Td Tx # fopelt At (@9en) & Areaw  Werd &1 8| 98 UTHH Wi, rxfseh, safaaiTd, sraafaird a1 g1 fory &1
PIS YUISH 81 YobdT 81 WS B 3=Id: Ushdi gIRT UK U4 faspifea (Sters) o1 forar wirar 31 afe wid A Wewr Sfua <0 @ durR fean €, ot
Udal i WoR B AP $I1 T A § HIS U 781 gral 1 3rd: T U=t TherdT BT (+vig, yraspdt & 39 fire areh ufagfy
(BISa®) F YR TR FaT 8| T8 Uy Taq IaR Thadt &1 9fpar B Jen 7d SH iR YRER 991 71 T a9 gidl 2



3= H 37aT @ weed, Forad ag ufvasr amar @ Rorad W= et farar man 21 918 98 wged YT 8 9T AT 9T W1, WAR 31 yyraRitedr ¥ g
He era=a AEaquf ghar &1

Source delivers the message through a:/ @H_%WW'\Q'\‘%WWW%
1. Source/ A

2. Message/ =0

3. Channel/ HIeIH

4. Receiver/ Tt

Correct Answer :-

« Message/ =0

5) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufef@a M # wFyd® ves? 39&
fea o sgfased uxml ® 9 fwer &1 T ¥

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g Sfitfad a1 frelfa ag 8 S STHeRT ATE HI 61 WY o= 81 81 981 § iy WuR &1 S¢H 8T 81 WeRI 98 WHerR! ’ra ¢ o wariva
e o1 321 {1 P (TAPIST) TS F1 W YHTS Tl # TS B o ufthar @ &t erefiy siar-anf & i qwsm & omam g1 dew
Fefafld 8 o1 W, Wid W1 &1 fHeft anf @9 e) & areaw | ueH wdl 31 98 UTHH M, Rfew, aafdard, sraafdard ar 3 Amt &1
PIS YIS 8 bl 81 WS B 3=Id: Uddhdi gIRT W U faspifed (&ers) o1 forar wirar 81 afe 9id 3 W Sfua < @ durR fear €, ot
Uehd] &I WS B fIRHEd B 7 UM & HIs Tawr 78 gt 81 3rd: Wia u-t Gwadr &1 fAfy, yrasat ¥ 3§ fires arelt ufegf®
(BTSa®) F YR W FAT 8| T8 Uy Faq JaR ThadT &1 9T B Je- 09 39 SR YRR 9911 671 T a9 gial 2

3= ® 3mar @ WY, oy ag ufvawr smar @ s wd=r werd fran wan 1 918 9% Wgad WTST 8 7 g 4T AT, AR Bt gHTaRiedT & g
T g~ AE@ayul gaT 81

Source gets back the answer from the receiver:/ @H,Wﬂﬁfﬁwa?wﬁ WW%:

1. Feedback/ Wgs® (qAHaZM)
2. Message/ =0
3. Channel/ H1e9H

4. Source/ 9id

Correct Answer :-

« Feedback/ BIE8® (YAa=M)

6) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: frufef@a M I wgd® ves? 3% R
o0 T ggfamedt wxAl ¥ O fawey o1 9uq w1

The source is the living or non-living thing attempting to share information. This is where the intended
communication originates. The message is simply the information that is being communicated. Encoding is the
process of bundling the message into an effective package that is easily understandable for the intended audience.
Once the message is encoded, the source delivers the message through a channel, which may be verbal, non-verbal,
personal, non-personal or some combination of these categories. The message is ultimately received and decoded by
the receiver. If the message has been crafted properly by the source, the receiver has no problem decoding and
understanding the message. Therefore, the source judges its success based on the feedback it gets back from the
receiver. This feedback presents an opportunity to learn and hone the process for continued communication success.

Finally, there is context, which encompasses the environment in which the message is delivered. Whether it is the
language used or the channel selected, context is extremely important to the effectiveness of communication./

T g ofitfad a1 felfa avg 8 S SR [TE HI1 61 T &R 381 81 981 | iy WuR &1 3¢H 8T 81 W 98 W1 1T ¢ o) waiva
fopaT o1 321 {1 BT (TAPIST) TS H1 W YHTS! TP TS B & ufthar @ =it iy siar-anf & R qwsm & omar= g1 dew
Fefafld 8 9 W, Wid e &1 fHeft anf @9 e) & areaw | ueH wdl 31 98 UTHH M, e, aafdard, sraafdamra ar 3 Afmt &1
IS OIS 8 THdT 8| TS PI 3=Td: UTaiehd| gIRT UTW Ud faaifed @1dre) o= forar sirar 81 afe wid 7 Wewr 3fe < & dar fear €, ot
Ul I W Bl fAPESd He1 7 THgM & B Juwn 781 gidl 81 3rd: T Tt TherdT BT [+1vig, yrarpdt @ S« firem arel ufagfy
(BTSa®) F YR W FAT 8| T8 Uy Taq JaR ThadT @1 9fpar B Je- 09 39 iR YRR 9911 671 TP 3G9 gial 2



3= H 37aT @ weed, Forad ag ufvasr amar @ Rorasd W= wer farar man 21 918 98 wged YT 8 9T AT 9T W1, AR 3 yyTaRitedr ¥ g
Hef sra=a AEaquf ghar &1

For the effectiveness of communication, the important element is:/ Wﬁuﬁﬂﬂm%ﬁﬁﬂ%ﬁqﬁm%
1. Words/ Rleq

2. Context/ g

3. Sentences/ AT

4. Language/ T8I

Correct Answer :-

« Context/ g

7) DIRECTIONS: Read the passage and answer the questions that follow./ &1 fufef@a e I wyd® ves? 39&
fea o sgfased uxml ® 9 fwer &1 T ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘*Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

AR & 3T Weg ‘FRAHIA B Al Weg ‘Frgfra A foram wan 3 gt 3 @ <3ma a1 wrsnm 9w |
TR T8 wfthar g o grR1 & a1 iftes aafea sy, e, srgyferal, wrerY, wreat, fRel, e anfe &7 3erH-verq &3d 81

AqE®dt & T8 3U&T B w1l 8 7P T8 I srgaTiiEl #1 ufaffie By ok I Jufeas qur Anfe® vATHEl & ATEH | WhadT B SHarsal
P UgT & e ofva ¥

T 66T B T B & FIY Aqeaepat T Falad |IEH $T TGN SR Febdl § 98 & FaR|
9fer g Sitfaa wroft &, er: 39 orum famar sirfirared 3 iR gl & faamRY &6t srftrofer wg@ &Y sraxgwan gidt 31
3T TR T T DY I1 7181, A9 JHTS IR W & Faal-wadi gl

Communication is derived from a:/ maa»‘qﬁ%?m, w_ﬁﬁmw%l
1. Latin word/@f Re

2. Greek word/ & Wsq

3. French word/ %d T1sg

4. Indian word/ HRdId X&q

Correct Answer :-
« Latin word/ﬂﬁ:ﬁ‘\’l&'

8) DIRECTIONS: Read the passage and answer the questions that follow./ f&=1: fruffa ez o e vew 39& R
o3 T sgfamed wxal ¥ O fawew o1 9w ¥

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3l g PRSI B Afe 2eg wrgi~r F forar a1 @ Fore eref & <3ma ar [rgn a9 |
TaTe T8 uftkar & e g1 3 O eiftes aafd fammy, awt, srgyferay, s, wreat, o, sei anfe #1 mer-yeH #d 81



Aqaddl A g8 SMUET Pt Sdl @ S a8 oA ATl &1 yfafAfia oY iR 3¢ dufdas aur Inffes vardl & A1ed S gwadl & SHargal
aP ugT & g dfva we

T 98T B U B & FT Aqeaspal Forg alaw AT o1 7GR X GHdT § 98 & Sar|
9% gu ofifaa wroft 8, ara: 9 oM faR sifirered w=A iR gl & faaRY &t siftreafda wagm @t srazawar gidl 31
31T 1R 3N WIS Y T AET, AT JHTS AR R & wadl-Gerdr gl

A process by which two or more people exchange ideas, facts, feelings and information is called:/_ Ts'tlﬁ?m%

fora® g1 @ a1 aif¥re safea famsy, e, srgyferd, e, wred), R, amea anfe #1 Ser-ver #3d 81
1. Adoption/ Wi@fd
2. Communication/ETa'El'UT

3. Rejection/ 3RAIHTA

4. Organization/ Ta

Correct Answer :-
« Communication/ 0T

9) DIRECTIONS: Read the passage and answer the questions that follow./ Tagr: fFafefad e 1 wmyd® ygwHe 39F A1
o T sgfawett uzAl # wdl fawey 1 999 B3

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3eh eg PRSI $Y AfeT 2eg wrgi~r F forar war @ R e & <3ma ar wrgn a9 |
FaTe T8 ufthaT & e g1 &) O Sifte aafda faamsy, awt, srayferay, s, reay, R, siei anfe &1 smer-ueM #vd &1

Aqcasdt A Tg 3l Bt it § 6 a7 oo rgaTRial &1 wfaffia wv ok 3% dufdas aur argfee waril & wrerd & Awadr @ SHargal
q Uga & fa afva s

T 98T B U B $ [T Aqeaspal Forg Galaw AT BT TGRT X GPbdT ¢ 98 & Gar|
9 gu ofifaa wroft €, ara: a9 oM faaR sifirarad w-= SR gl & faaRY o siftreafea wagm @t emazawar gidl 21
31T T8 3 WS Y T 8T, AT JHTS AR R & wadl-Gerdr gl

A person is expected to motivate his/her followers and to reach heights of success is termed as a:/ g ufed a1 Heardr
2 o g erden 3t wrdt @ % 9 oo ATt &t AhadT #t Farsal 9@ uge & g ufva w2

1. Master/ HR&KX

2. Boss/ 819

3. Leader/ =l

4. Successor/ STRIUBRY

Correct Answer :-

. Leader/ Jdr

10) DIRECTIONS: Read the passage and answer the questions that follow./ fiE=1: frafafEa meriz ot e yew SU%
= o T ggfawalt vl & 9 fawe &1 3a7 B

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.



As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TAR F 6N Teg FRIHRT B afes T wrgfa A fRrar mar @ Rraer srd @ <3ma ar argn s )
TR g% wfshar g o grRT & a1 siftes aafe oy, oy, srgyferal, e, reat, e, e anfe &7 SerH-verq &3d 81

AqEddt & U8 3rU&T B ATl 8 7P 78 o srgaiial @1 ufaffie oY ok S Fafedas qur Anfe® waTEl & ATEH | WhadT B SHarsal
a® uga & fg A ¥

T 98T B U B $ T Aqeaopal Fog Falww A1e o1 WGHT X TPl € a8 & Gar|
9fer g Sitfaa uroft &, era: 39 orum faar sirfirared v 3R gl & faamRY &t srftraafe we@ &Y srazgwran gidt 21
3T T T T DY I1 78T, A9 JHTS IR R & Badal-wadr gl

A leader can achieve his goal by using:/ ﬁaamrf @ IUIRT IS 3(UAT AT Ut B Jhell %:
1. Adoption/ WPfd

2. Communication/ JWNU[

3. Rejection/ i id

4. Organization/ §7T&

Correct Answer :-

« Communication/ JHIS0T

11) DIRECTIONS: Read the passage and answer the questions that follow./ fE=1: frafafEa meriz t el yew SU%
2 fod T vgfawed u=t & U8 fawey &1 999 Y|

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.

A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3l Aeg PRSI B Afe Weg wrgi~r F forar 1w @ e e & <3ma ar [rgn s9r |
FaTe T8 ufthar & R g1 3 O eifte aafda famsy, awt, srayferat, s, wreat, o, smai anfe #1 mer-yerH #vd g1

Aqcasdt A g7 e Bt Aht } 6 a7 oo srgaTRRiat &1 wfaffia wv ok 3% dufdas aur argfee vl & arerd @ Awadr @t SHargal
ae Uga & fog afva X

Y Aed DI UTW B & [T Aqeacpd o1 Jaad T BT WERT R THdl § 96 & AR
fp 5w ofifaa uroft €, ara: g9 oM faaR srfirerea w1 3R gl & faaRy o sifireafea wHg™ @t srazgwar gidl 21
3T T8 3 WS L T 78T, AT JUTS AR W & wadl-gedr gl

Expression can be done by:/ 3iffysafdd  gRT &1 &1 Jodl &
1. Living beings/ Siifaa wforat

2. Non-living beings/ fsifa axgaif

3. Both of the above/ SWRId il

4. None/ s 7l

Correct Answer :-

« Living beings/ Siifad mfori

12) DIRECTIONS: Read the passage and answer the questions that follow./ ford=r: frrafafaa i &t WWM
i fod T ggfamadt vl | 9 fawen &1 3a B

The word has been derived from Latin word ‘communis’ which means make common.

‘Communication’ is a process by which two or more people exchange ideas, facts, feelings, information, words,
picture, graphs, etc.



A leader is expected to represent his/her followers and motivate them to reach heights of success through individual
and collective effort.

Communication is the best equipment a leader can employ to achieve this goal.

As living beings, we need to express and understand the expressions of others. Like it or not, the human society
thrives on communication./

TR & 3l g PRSI B Afe 2eg wrgi~r A forar war @ Rt erdf & <3ma ar wrgn s9r |
FaTe a8 uftkaT & T g1 & O Siftres aafe faamsy, awt, srgyferay, s, reay, o, Sireia e @1 mer-ueM #vd &1

Aqamal ¥ Ig e I A { fF a5 s srgaria o1 ufafaifte w¥ o 3% Jufdas au1 iR Wl & ared ¥ Awedl ot SHargal
% UgaA & e ofvd a9

T 98T B U B & 1T Aqeaspal Forg alaw A1 BT TGN X Gl ¢ 98 & Sar|
9 5w ofifaa yroft , ara: a9 oM faaR sifiraraa wv= SR gl & faaRY o siftreafea wagm @t emazawar gidl 21
31T 18 3N WS Y T 8L, AT JHTS AR R & wadl-Gedr gl

Human society thrives on:/ ATdIHATS _ W Holdl-pddl %:
1. Adoption/ W&

2. Communication/ JIN0I

3. Rejection/ 3REiGHTd

4. Organization/ ¥T&

Correct Answer :-

« Communication/ THIY0T

Topic:- Child Care and Education

1) Lack of prenatal care does not increase the risk of:/ mqﬁ%@m%ammﬁ mﬁmqﬁm%
1. Infant mortality/ awiTd ARUTierar
2. Premature birth/ W@[qﬁﬁw

3. Child abuse/ STd g dER

4. Low birth weight/ S/ & AT a9 HH

Correct Answer :-

« Child abuse/ 1A gHaER

2) The ability to achieve a grasp of the nature, significance, or explanation of something and to have a clear or complete idea of it is known as:/ W EIEkdl

wopfa, wrefeen/srfguiar, a1 saren F THE U A iR SUST WY T TYUF THS/SAUROT Ul HIH S Taer i Pl T &

1. Emotionality/ HTgehdl
2. Handedness/ 8¥d-UTYT=AdT

3. Understanding/ TH
4. Feedback/ TP (wies®)
Correct Answer :-

e Understanding/ JHY

3) The functioning of ICDS is monitored by the:/ m@ﬂw & BTl Bt T EIRY CARTIGI] %:
1. Ministry of Child Development/ ATId THTeH fde® Haed

2. Ministry of Women and Child Development/tl'%?ﬂ Qa 1 faspT Harera

3. Ministry of Health and Family Welfare/ S04 Ud URAR & edT0] HATeH
4. Ministry of Social Justice and Empowerment/ﬂ'l'ﬂ'lﬁl—c}? g TG 3BT Tt

Correct Answer :-

* Ministry of Women and Child Development/ II'%T‘IT T T faprg Hare



4) The belief that inanimate objects have life like qualities such as thoughts, wishes, feelings and intentions is known as:/ 9% ﬁ’ﬂ'l'\q fe ﬁl\_rﬁ'a'ﬂﬁéﬁ ¥ sital
S 701, I R, SO, YT T 33712 &) TPa &, Pegarar gl

1. Egoistic thinking/ SEH-IATGH (Wm) LK
2. Animistic thinking/ Sitqart fdd=

3. Abstract thinking/ GTJIrfﬁl?FI

4. None of the above/s:lﬁﬁ ﬁé:ﬁﬁ

Correct Answer :-

« Animistic thinking/ Siaare} fRida

5) Which among the following service is not covered by the ICDS?/ Eﬁ'ﬁ T P a1 Slﬁ'\‘ﬁ@ﬁ'@ & dgd gl 3t %?
1. Supplementary Nutrition/ Y oy

2. Pre-school non-formal education/ ﬁwmﬁ TS QT&‘I'UT

3. Scholarships to meritorious students/ Aerd faenffar %ﬁ @'ﬁf{ﬁm

4. Health check-up/ XY SiE|

Correct Answer :-

« Scholarships to meritorious students/ HETdt faenfiay %ﬁ @'HQﬁFJT

6) Legal age for marriage for a female is:/ et %ﬂ ﬁaﬁr @1y g %:
1. 18 years/18 atf

2. 19 years/19 EL

3. 20 years/20 ?m‘

4. 21 years/21 ?m‘

Correct Answer :-

e 18years/18 T:l'Ef

7) Which among the following can cause impairment during pregnancy?/ E:Iﬁ A P THIqRT & ?RFI &fd BT BRI 7 T %?
1. Use of drugs and medicines/ HIG®H q?ﬂ"’ﬁ‘la NSRRI BT IuTHT

2. Certain infections/ P& GHHUT

3. Inadequate consumption of food and nutrients like iron/ ﬂ-nTrFlQa @3’[ G{F%‘an Tl BT I JUHTT

4. All of the above/G’C@aﬁ gt

Correct Answer :-

« Al of the above/ Iudad qHt

8) Developmental tasks are given by:/ faeraTere wrd - ¥ GIRT U %
1. Freud/lsz—vlgt'sr

2. Piaget/m@f

3. Maslow/ff\?_vﬁ

4, Havighurst/%ﬁ?@

Correct Answer :-

. Havighurst/%ﬁ?ﬁ

9) Stories for young children should be:/ B g=Af P Wﬂeﬁff - ?F‘ﬁ ?IT%QI
1. Short and simple/@ﬁ—cpra‘ g¥d

2. Based on fantasy, fun and humour/ WTFF[, Iﬁﬁ—ﬂ?ﬂ Td e R 3nyia

3. Interesﬁng/w

4, All of the above/GWiﬁﬁHlﬁ



Correct Answer :-

o All of the above/m gt

10) Accordlng to the Article 21(a) of the Indian Constitution all children between which age group should be provided with free and compulsory education?/

¥ 3BT 21(a) b AR, 6w 3mg *f & Wt Tl Y Fr:3qew wd Srfvrard fRien § et @rfee:
1. 6-12 years/6-12 Y
2.5-10 years/5-10 %
3. 6-14 years/6-14 TY
4. 5-15 years/5-15 Y
Correct Answer :-

« 6-14 years/6-14 TY

11) Scientific knowledge about the behaviour of human beings in relation to other human beings is best imparted through the discipline of:/ Wﬁ&ﬁa?uﬁ
T & AqeR | Haltd I gE e F vy & wrew & walvw &1 R ve far wmar @:

1. Biology/ Sfia-fagm

2. Sociology/ THIS-RIRA
3. Medicine/ Rifesan fagm
4. Psychology/ AR

Correct Answer :-

o Sociology/ THISI-RIRA

12) Which among the following organization in India focuses on the empowerment of women and girls as they are disproportionately affected by poverty and
discrimination, suffers from abuse and violation of rights, entitlements and access and control over resources?/ HIRd | E:Tﬁ Sl T, f&ray Qa'
aﬁmaﬁ%ﬁmwmm%mﬂ%%ﬁm@ﬂmﬁ ST ¥ & guTfad §, 9T gofasR @, d ey, urrarsi,
T 9 g T I W Fim0r & Ieeres @ \iga &2

1. WHO/ S, Td. 311,

2. CARE/ PR (H TR S))

3. NCERT/ UA.31 3.3MR. 2.

4. NIPPCD/ T 3Ts. Ut Tt =Y €.

Correct Answer :-

« CARE/ PR HT3RE)

13) Intensity of sound is measured in:/ s &Y diaar &1 9T _ﬁ forar sTar %;
1. Cenﬁmetres/m

2. Decibels/ SHIad

3. Hertz/%ﬁf

4. Milometers/ ATSAHTEY

Correct Answer :-

. Decibels/@ﬁﬁﬁ

14) The process by which sperms and ovum fuse to form a single cell is called:/ [$PTU] T4 3(US I repT & RSP @'ﬂlﬂ TP HI1epT T B ufspar &Y
__ PEd el

1. Assimilation/ ST 0N/ TBRUT (Qﬁlﬁ[am)

2. Fertilization/ 9=

3. Mutaﬁon/m

4, Constitution/ T3

Correct Answer :-

« Fertilization/ T%=



15) Which among the following body build which tends to be long and slender?/ Sqﬁ 3 5 e e & dar @W?ﬁ Eal Eﬁﬁl tng STl %?
1. Mesomorphic build/ FERUT (ﬁ?ﬁm) Mo

2. Ectomorphic build/mﬁﬁ?— (Qaaﬁfaﬁ;) RifeXs]

3. Endomorphic build/ 3=t (@ﬂ%) Rtk

4. None of the above/ TTH & ﬁ'sc:ﬁf

Correct Answer :-

« Ectomorphic build/ TETHIA® (TEEHIT®) To-

16) A condition in which the foetus or new-born has an insufficient supply of oxygen which can lead to brain damage is called:/ dg fRufy fored Taema ﬁ'ﬂ{[

H 3ifqefior @t 3myfef sruuft gt @ R s aferss & afv wda
1. Anorexia/ SF6TeI/A@ = T (TARTeRera)

2. Anoxia/ SiTerRITor1-&fTUTdT (T TToRTa)

3. Bulimia/ &feTTer=TTaT (gehiferam)

4. None of these/ TTH ¥ B3 el

Correct Answer :-

« Anoxia/ Taritor-&forar (TAfaRTa)

17) Unfolding of characteristics potentially present in an individual that comes from the individual’s genetic endowment is known as:, /ﬁﬂﬁ fed ® GyTfad

FU Y IR T rfirareron, it 39 i & Sgafie Toi & oma € BT U g1 & A1 A WIFT 91T 8:
1. Learning/ 3ITTH (@f+m)

2. Distinguishing/ fa®a=

3. Maturation/ URU®

4. None of these/ $TH ¥ ®Is g

Correct Answer :-

* Maturation/ LIRCEE]

18) Fail-save and Zero reject are models of:/ a'q-'\ﬂ?'&ﬂ @Tﬂ W'UT, & ﬁlﬂ'ﬂf%
1. Mainstreaming/ J¥T YRT E=AqiE] (ﬁ?@ﬁ"’h
2. Labelling/ﬁiﬁﬂ

3. Rehabilitat—ion/m

4. Intervention/ &I&T

Correct Answer :-

» Mainstreaming/ 3T YRT am (ﬁq@ﬁﬂh

19) Which among the following is a not a type of articulatory disorder?/ 37{& J H'ﬁT'l, TP YPIR BT SHRUMTHAD faer qﬁ %”
1. Omission/?‘ﬂ'qq

2. Aphonia/ 3¥axdl

3. Substitution/ TfcRITAA

4. Addition/ Ter

Correct Answer :-

o Aphonia/ 3¥axdIl

20) Psychologists call Early childhood age as:/ 'FFh%ﬁTﬁﬁ'T SMRfY® STearawT 3y 3| 3’_&'% %
1. Problem age/ THIHIT 31

2. Pre-school age/ ﬁW—qﬁ (g 3mg



3. Toy stage/ QT sraa
4. Pre-gang age/ a?ﬁll?f (Eﬁ—ﬁ:ﬂ) S

Correct Answer :-

« Pre-gang age/ a?ﬁ-q?f (Eﬁ-ﬁTD 3y

21) Defects with which children are born with are known as:/ T foF a‘ﬁ & 1Y o Ad %3% gl Tdl %:
1. Acquired disabilities/ 3ifefd GWTQ

2. Congenital disabilities/ STHSITd KIRCSEIY

3. Natural impairment/m aftora

4. None of these/ 370 & ﬁ%ﬁ Tt

Correct Answer :-

« Congenital disabilities/ TSI 3R

22) When pressure is applied on the infant’s palm by placing something on it, she curls her fingers around the object. This reflex is known as:/ STd HduiTd @t

AN W $o T@HT I W ST AT STl & Y 98 S0 Syferai 30 avg & 33-7rd wrie a1 215w ufvad / wfaadi fpmr &Y w1 wmar 21
1. Rooting reflex/ J@AITR (FfeT) Ufdad

2. Grasping reflex/ U8} (AR Uferad

3. Moro reflex/ TRY ifarad

4. Babinski reflex/ STfawb! Ufcad

Correct Answer :-

e Grasping reﬂex/'ﬂ'I_Eﬂ ('am'l') Dﬁfﬂ‘f

23) The basic unit of heredity is:/ STl @ STYRYd 33’1% _%ﬁ
1. Chromosomes/ TJUIRTA

2. Gene/\_rﬁ:T

3. DNA/ SITT

4. Zygote/ gTHAS

Correct Answer :-

. Gene/\_rﬂ_'f

24) Which among the following refers to a diseased or a defective tissue or a part of it?/ E:Iﬁ foaeT o fopelt I a1 HAIW S SIYAT IHP Th
YT A T 82

1. Impairment/ &‘ﬁUﬁT

2. Disability/ 3RI&ddl

3. Handicap/ﬁﬁ'i”'l?ﬂ

4. All of the abovelmﬂiﬁ

Correct Answer :-

¢ Impairment/ efforar

25) Which among the following term is used to refer to the new-born baby in the first four month of life?/ mﬁmaﬁmsﬁfﬁﬂ?ﬁ@rmmﬁsﬂﬁé
T BRI AT S?

1. Foetus/ TIWQITQ

2. Neonate/:ia\_rl'l'dfiTQ]

3. Embryo/ YUr

4. None of these/ 378 I H's g
Correct Answer :-

« Neonate/ s fRIg



26) IEP stands for:/ SMTSS U BT T ATH &:

1. Individualized Education Program/ $8 A 3(aTSSs TSP IH TR (JUfaaard fRIefr SrimH)

2. Integrated Education Program/ S¢TICS TSR WU (I0fad fR1eror srisw)

3. International Environmental Program/ $CXARMd TaRIRFHed U (SaRigTy wafaruiia sris)
4. Individual Education Pattern/ 33 Ta3id TSlh = T (Jafdaes e wrimH)

Correct Answer :-

« Individualized Education Program/ SeITaQSAISTS TSR TR (Jafdadmd R Hiew)

27) According to the Juvenile Justice Act a ‘child’ means a person who has not completed/ﬁﬂﬁ? =g ffrae & ERGIES q= BT Gl"t'-fﬁ'\q afea I %
Rt amrg LETES

1. 16 years of age/16 EL
2. 17 years of age/17 EL
3. 18 years of age/18 EL]

4. 21 years of age/21 EL

Correct Answer :-

* 18 years of age/18 G

28) 3 R's in nursery school education means:/~RINT faemerdt fRrem & 3 r's &1 o1 3:

1. Reading, Recitation, Reaction/ & (Tg), g e (¥R UTo), fuaer (wfafshan

2. Reading, Writing and Arithmetic/ SIf&T (Tem),Imsfé (e @ik sifEifes (simmfom)

3. Reading, Racing and Resting/ & (), IR (@re), 3R IR (fagm)

4. Reading, Recitation and Recreation/ &7 (T&T), TTTEERA (YR UTS) UF AfhuxH (FH-g8ma)

Correct Answer :-

» Reading, Writing and Arithmeﬁc/ﬁ%ﬂ (WD,TI%'%‘T d%‘l'@:ﬂ) 3R sfvafesd (Gi?b_‘bel?D

29) Play in which young children play independently beside other children is known as:/ d& aﬁa forad Bt 72 o =l & U ® Wdd T Jed %,
Feard g

1. Parallel Play/ JHIAR ® g

2. Solitary pIay/WHﬁET

3. Exploratory play/ \Hﬁ'ﬁﬁm
4. Day dreaming/ fegray
Correct Answer :-

¢ Parallel Play/wm

30) UNICEF stands for:/ If- W (TEASTSHETH) BT R A1 :

1. United Nations International Children Entertainment Fund/ gATRCS R ‘éd%"iill"m fac§-1 Uce-HE e

2. United National International Children Entertainment Finance/ JATSCS =1 $EIARMd feg UeeHC WigAd

3. United National International Children Entertainment Funds/ AIRCS AR s'cw-‘zl-m Ir;lc'§~'1 QC(C"IH'C Th?ﬂ

4. United Nations International Children’s Fund/ gATRCS AR éd("i-?l"iﬂ Ir;4('§"{-l e

Correct Answer :-

» United Nations International Children’s Fund/ g 3%3 ﬁwg’azfm ] ﬁl@?‘[%

31) Which among the following is a type of associative learning?/ Eqﬁ A Wil'l'a 3rftRmy (@'ﬁl‘?ﬁ?ﬂﬁh} BT TP YPIR %?
1. Trial and Error/ m-gﬁ

2. Classical condiﬁoning/mﬁﬂw (aaﬁwa% SIRIT)



3. Cognitive learning/ TS SN (HITHICT AT
4. Instrumental condiﬁoning/mqﬁﬁ:{(ﬂﬁ?ﬂﬁ- St

Correct Answer :-

e Classical conditioning/ ferufaf¥a EIRCISEL (Wmﬁ"ﬁ

32) Operant conditioning was propounded by:/ ﬁm’l’;ﬁﬂ' BIGCIE ) wfeaareq &I fomam T i
1. Pavlov/aﬂ?ﬁa

2. Skinner/ PR

3. Piaget/qu\_}l

4, Thorndike/ %ﬁ@w

Correct Answer :-

. PavIov/aa?ﬁH

33) Which among the following is the correct full form of ICDS?/ en'é“fﬁsﬁw Cal '\‘Iﬁ RTAH Sﬂﬁ J AT %7

1. Integrated Children Developmental Scheme/ s'c“lucs RIQ’§'1 SadyHcd “@Fﬂ'ﬁ( TAfed a1 fapr ThTrT:ﬂ)

2. International Child Development Services/ $TXRMT T3S SATUHC Aaee (SR a1t fIeT aTg)

3. Integrated Child Development Services/ ‘édﬂl‘/lds IS SddUHC mﬁ (ﬂﬁﬁﬁﬁﬁw m
4. International Child Development Scheme/ 33?913 R m%ﬁm WY (GFRT@'C[ EIACEAR W)

Correct Answer :-

 Integrated Child Development Services/ édﬁl‘/lds EIESS SdduHc ﬂﬁ’aﬁ (H*—Ilr})d EINACEIR] m

34) Which among the following is a residential institution devoted to the care of children whose biological parents are deceased or otherwise unable or
unwilling to take care of them?/ I8 ¥ B TP ATARNY TR ¢ o T = 91 T@uTa F e wafdfa g s v oo R g g ar
ftre 3 1 T@uTa B B s a1 F arferegs &

1. Day Care Centre/ fGaeii c@YTA H& (éwm
2. Creche/ T (UTTHT-SR/RIGE)
3. Orphanage/ 3ATITAT

4. None of the above/%ﬂﬁﬁ ﬁ'sc:ﬁf

Correct Answer :-

e Orphanage/ 3TYTTT

35) If a child does not follow a moving object, does not reach for toys and things held in front of him and has a tendency to bring pictures or books very close to
his eyes, he might be suffering from:/ Tfc 1S are farxlt niforsita avg &7 ST =1EY BT 8, ISP AT A8 7T FReA= vd axgasil 9% ugam a1
I8 UPHS BT YUTH 8] BT ¢, 3R STH Rl a1 sl &t S0t Sl & 9ga g S wgfi g, A ag 9 \iga g qoar g1

1. Hearing impairment/ 4dUl efforar

2. Visual impairment/?f@ &'ﬁ'U'IT‘IT

3. Neurological impairment/?‘iﬁaﬁu &ﬂm?n
4. Mental retardaﬁon/qﬁm Hadr

Correct Answer :-

« Visual impairment/ P &ffurar

36) Which among the following does not hold true for emphasizing the significance of Nursery School Education in India?/ HIRd H T8 faemadt fRrem &

HEd | §9 & & Y 379 @ o9 9 181 22

1. The rate of development is so rapid in pre-school years that child can be given more and more experiences/T%I—?EI'IT‘RTIL—G¢ (Cﬁm uf # faprg &t x® 3(‘17-1 o
B B 1 o= ) iftrepifies srua fou o ged §

2. There is tremendous wastage and stagnation in India in a Class | and Il which can be prevented through Nursery school education/ YRd # HE 1 33? 2

i 3uegy g yiferiy § et T faamerd) frem & arend § Apumd & ST Gbal §

3. Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/:l?i'\ﬁ

foremerft Rien 3ot srearg & srayRonstt ¥ uled R 90 3l § {6 o= 98 81 IR 3% Yo A g



4. The provision of Nursery school education is a social and economic necessity as many mothers go out for work and there is no one to take care of small children
at home/ T frmTerdt fR1e &1 WTGem U WIS T e Sia<aemdr § Fifes 9gd Wt ATTY HTH IR 916R ST § 3R R H §ei! Bl 3aHTd & o
HIs T8I BT ©

Correct Answer :-

* Nursery School Education emphasizes the introduction of concepts at such a young age that children may tend to forget them when they grow older/m

feramerd) e 3t 3reurg § SrayRuTS | uREy R 9 &1 € 6 9 98 B9 IR I YeR A g
37) Development that comes through exercise and effort is termed as:/ ATATH Td v & HIEA | '(aﬁ aran faerg Dgdrdl %:
1. Maturation/tfﬁ'c@_*{
2. Heredity/ dRIITAdT
3. Learning/ 3ifer (?‘Iﬁ'"l)

4. Practicing/ 3{¥TH

Correct Answer :-

e Learning/ ST (?‘Iﬁﬂ)

38) Mechanical action of the middle ear is converted to electrical signals with the help of:/ Heaeul it it fpar @) TETadr T ag'q?r Tpal &
&d ot 31

1. Vestibular mechanism/ JET0T (AREgeR) FaTaat

2. Auricle/ STRIGUI/ATT (3R

3. Cochlea/ BUTAd (SPITam)

4. Malleus, Incus and Stapes/ B9-T%X (Afera), R{UT (36 9) U4 IoTd (XH)

Correct Answer :-

« Cochlea/ PHUIlae (ﬁ%m)

39) Composite Regional Centres for Persons with Disabilities functions under:/ &g feai waifea H‘ﬁh’l 5 @Tﬂ'ﬁrﬁ Hoa ded vk wa— fag
feafyfadten _ ¥ siavfa o1d a7

1. Ministry of Rural Development/‘;l'ﬂ:ﬁ'UT fawrg Harag

2. Ministry of Social Justice and Empowerment/ﬂ'ﬂ:l'l"\;rﬁ? 1 Td SHIABTIRT T
3. Ministry of Education/ Rren e

4. Department of Disability Affairs/ feagior o fgumr

Correct Answer :-

¢ Ministry of Social Justice and Empowerment/ﬂ'l'q'lﬁ‘l?ﬁ T Tq SHTIHIRT HATTT

40) Tendency to ascribe consciousness to inanimate objects is known as:/ foreifa aﬁ[\ﬁ T a1 e Fe Bt uqﬁr Ea) _aﬁ-lTF[ [ ST St %:
1. Egocentrism/ R AL RS ATt | (é‘ﬁﬁ@)

2. Animism/GﬁT:Fil'lT:(r (Qﬁlﬁ\_rﬂ)

3. Self-esteem/ SITAHIFTT

4. Socialization/ JTHTSHROT

Correct Answer :-

. Animism/\_rﬂaa'l?'{ (Qﬁlﬁ_\ﬂ)

41) An adolescent belongs to which stage of play development:/ ﬁ"ﬂ'ﬁ?, aﬁsnﬁwm @ fory erawuT A ga %.?
1. Exploratory stage/ 3} 3R

2. Play stage/aﬁ@ AR

3. Toy Stage/f@?ﬁm AR

4. Day dream stage/m AR

Correct Answer :-

« Day dream stage/ fGaray 3@m



42) Which among the following is related to providing protection and child rights?/ Eq'ﬁ Eor &7 T 9Tl SfyeR Uard A I T %’
1. The Juvenile Justice Act/ﬁﬂ'ﬁ?m Ifafras

2. Child labour (Prohibition and Regulation) Act/ STcT 4H (ﬁﬁuqa‘ﬁum) Jfefrag

3. The Right of Children to Free and Compulsory Education Act/ =1 &1 ﬁWQE fard e o1 iR siftfam

4, All of the abovelmﬂﬁ-ﬁ

Correct Answer :-

o All of the above/E’C@aﬁ Tt

43) Threadlike structures that contain the genetic substance DNA are:/a oriY Sft IREATE o @@T{ ATHS GTIﬂaﬁﬁ‘T tIET't'j élal %, _ﬁ?l'l_cﬁ %
1. Genes/\_rﬁzf

2. Chromosomes/ T[UIRLA
3. Heredity/ JRIITAd
4, Environment/q'qw

Correct Answer :-

» Chromosomes/ TJURTA

44) Behaviour that fails to conform to social expectations due to ignorance of social expectations is known as:/ IS Gl'ﬁ&ﬂ\?rﬁ @t GH%?FH & DPIRUT
araTiTE rdgmsit ¥ rgura- § fawd Yg ard aER & F ATH A T W4T B

1. Moral behaviour/% dgiR

2. Immoral behaviour/ 3fa® (SHRT) FdgR

3. Unmoral behaviour/ﬁﬁﬁﬁ? (GFIThYT“I) dgR
4. Non moral behaviour/ﬁﬁ% (:[T:[_Iﬁm gdgR

Correct Answer :-

¢ Immoral behaviour/ 3ffas (SHR) FdgR

45) Which among the following is the full form of AIDS?/ TSH (Q'GIT&"SPIW’) Cal ?’I’Eﬁ PUEIL] S"Tﬁ J AT %?
1. Acquired Immuno Diseased Syndrome/wm %?ﬁ%ﬁl@ﬂ

2. Affected Immune Disease Symptom/ W@W%ﬁﬁ Rpn

3. Acquired Immuno Deficiency Syndrome/wgnfﬁ éﬁﬁ&r@:ﬂ ﬁl@'ﬁ

4. Actual Immune Deficiency Syndrome/ Qaﬂ\’rfagnl:ﬁ @’m m@ﬂ

Correct Answer :-

e Acquired Immuno Deficiency Syndrome/msjﬂ:ﬁ PR QF‘ ﬁl@'ﬁ



